Graphing Parabolas Review Worksheet	Name: __________________________
1. [bookmark: _GoBack]Using a graphing calculator, complete the following table. (12 marks)

	Equation
	Vertex
	x-intercept(s)
	y-intercept
	Domain
	Range

	y = x2
	
	
	
	
	

	y = (x – 1)2 – 3
	
	
	
	
	

	y = -3(x + 2)2 + 4
	
	
	
	
	

	y = x2 – 2x + 5
	
	
	
	
	

	y = –3x2 – 10x + 11
	
	
	
	
	

	y = x2 + 3x + 10
	
	
	
	
	


			
2. Solve graphically (using a graphing calculator) and check the following equations. (2 marks each)
a. [image: H:\grid2020.JPG]3x2 – 6x – 7 = 0 
















2. Solve graphically and check the following equations. (2 marks each)
b. 0.5z2 + 3z – 2 = 0 
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c. [image: H:\grid2020.JPG]3a2 = 18a – 21  














d. 5p = 3 – 2p2
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